:
A |.--D @ @} dakTopu3alys KyOMIECKUX MHOTOUJIEHOB

Nwms: Jara: Orenka:
3 2 3 2
x  +3x"—40x— &4 54x” + 327x" — 52x — 420
X+ 3% +9x+ 14 X = 3% = 34x+ 120
x>+ 2x> — 49x — 98 ¥ — 10x% — 19x + 280
x3—7x2+x—72 x3+5x—18
3 — 2357 — 36x X+ 12x% + 27x — 40
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:
A |.-'D Q C& dakTopu3alys KyOMIECKUX MHOTOUJIEHOB

Nwms: Jara: Onenka:
X+ 3x> —40x — 84 54x° + 327x° — 52x — 420
x—6)x+2)(x+7) (6x + 7)(x + 6)(9x — 10)
X + 3%+ 9x+ 14 x> — 3x = 34x+ 120
(x+2)0% +x+7) (x+ 6)(x— 5)(x— 4)
X+ 2x> —49x — 98 X — 10x° — 19x + 280
G+ T)x+2)(x—7) (x— 7)x+5)(x—8)

=T +x—T72 ¥+ 5x— 18

(x— &) +x+9) (x—2)(0% +2x+ 9)

3 — 2357 — 36x X 4 12%° + 27x — 40
x(x—9)(3x +4) x— Dx+8)(x+5)
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